









Assum	ption	S (cont.)		1	
Energy	Use / Acre*	Conv. Rate to kWh	kWh / Acre	Farm Acres	Yearly kWh Usage
Liquid Propane Gas (gallon)	6.36	37	235.3	30	7,059.6
Electricity (kWh)	77.13	N/A	77.1	30	2,313.9
Natural Gas (feet3)	200	43.962	8,792.4	30	263,773.0
Total		C	9,104.9	30	273,145.5

	Assum	ptior	IS (cont.)		
	System	Cost per Unit	Energy Production per Year (2005)	Resale Value/ kWh	
	Wind System	\$7,015	954.2 kWh	0.11/kWh	
	Solar System	\$9,181	859.76 kWh	0.42/kWh	
7			1		







	H	yb	rid	: V	Niı	nd	an	d S	So	lar	• P (ow	ver
		Com	npar cos	e bo t and	oth t d en	tech ergy	nolo outp	gies ut	ht (i	2020	ona	lity)	
		Dep	enu		wea	lulei	and	u iigi		seas	SOLIC	iiity)	
	Jan	Feb	Mar	Apr	Мау	June	July	Aug	Sept	Oct	Nov	Dec	Totals
Wind Speed	10.8	10.2	10.5	11	8.7	8.4	8.2	8.2	9.5	10.1	12.3	10.7	
Turbine	121	90.1	98.6	110	52.6	44.3	44.2	44.8	63.6	79.2	136	95.7	979.5
Solar	51.8	71.8	89.1	80	88.4	85.3	89.3	90.1	98	57.7	35.2	32.3	868.9
Monthly Total	172	162	187.7	190	141	130	134	134.9	162	137	171	128	1848
11							Y						









	NPV	
	 Total Cost = 286@\$7,015 + Solar <u>\$2,015,471</u> The farm is not big enough to hol 	1@\$9,181 = d 286 turbines
	Total Energy Produced:	286* 954.2kWh+859.76kWh = 273,760.96kWh
S	Excess Energy Produced:	273,760.96kWh - 273,145.5kWh = 615.46kWh
	Income When Sold as Excess Solar Energy:	615.46*\$0.42 = \$258.49
	NPV of \$258.49 over 30 years discounted at 10.79%:	\$2,285
	NPV of Expected Energy Savings of \$0.062 per kWh:	\$149,694
	Government Subsidies through Tax Savings due to Accelerated Amort.:	\$511,805
16	NPV:	(\$1,351,687)





	NPV – Scenario 2	
	 Total Cost = 10 turbines@\$7,015 	5 = \$70,150
	Total Energy Produced:	10* 954.2kWh= 9,542kWh
	Excess Energy Produced:	9,542kWh - 9,373.5kWh = 169.5kWh
	Income When Sold as Excess Wind Energy:	169.5*\$0.11 = \$18.65
	NPV of \$18.65 over 30 years discounted at 10.79%:	\$164.81
	NPV of Expected Energy Savings of \$0.053 per kWh:	\$4,391
	Government Subsidies through Tax Savings due to Accelerated Amount.:	\$17,814
19	NPV:	(\$47,180)





Ste Curr	p 1 ent Co	onstru	iction Pro	ojects	
MW Capaci	Yearly ty mWh	Cost ('000)	Fixed Price Contract	Expected Yearly kWh / Capacity	Cost/ Capacity
20	84,000	46,000	20 years BC hydro	4,200,000	\$2,300,000
9.9	30,000	22,000	40 years BC hydro	3,030,300	2,200,000
9.6	34,000	22,000	40 years BC hydro	3,541,667	2,300,000
5	20,000	10,000	40 years BC hydro	4,000,000	2,000,000
0			Average:	3,692,992	\$2,200,00

AT D	Require	ed Invest	ment A	mount
	Acres	Yearly kWh Requirement	Required Capacity	Required Investment
	30	273,145.50	0.07	\$162,976
	30	9,373.50	0.00254	\$5,593
23			2	5

-









Yearly kWh Requirement	Required Investment	NPV
273,145.50	\$162,976	\$9,275
9,373.50	\$5,593	\$318

A	Res	ults Su	mmary	& Utili	ity
		Alternative ²	1 (Utility 0.3)	Alternative	2 (Utility 0.7)
		3 Energy Types Replaced (Utility 0.8)	2 Energy Types Replaced (Utility 0.2)	3 Energy Types Replaced (Utility 0.8)	2 Energy Types Replaced (Utility 0.2)
	Total Cost	\$2,008,456	\$72,316	\$162,976	\$5,593
	Utility	0.1	0.9	0.4	0.6
	NPV	(1,351,687)	(65,269)	9,275	318
	Utility	0.4	0.6	0.6	0.4
29			L.		















Run Against	Time period	# of Data Points	R ²	Adj R
Index	Quarterly Short	7	0.526	0.432
Oil Spot Prices	Monthly Short	21	0.193	0.151
Oil Futures Prices	Monthly Short	21	0.151	0.107

Fair

Regressio	ables	lts		
Run Against	Time period	# of Data Points	R²	Adj R ²
Revenue	1998 – 2006	8	0.31	0.195
Operating Profit	1998 – 2006	8	0.039	(0.121)
Capital Employed	1998 – 2006	8	0.007	(0.159)
75	2			

•

19

Cost	Required investment amount (\$162,975 and \$5.50
Expected Yearly kWh Produced	Required energy production for Farmer Joe (273,145.5 kWh and 9,373.5 kWh)
Fixed price contract	40 years with BC Hydro
Fixed price/kWh	\$0.08
Funding	Assumed 100% through credit facility which is closed shortly before or after operations start; repayment of credit facility is assumed to be with new 10-year debenture at then effective current pre-tax interest rate of 6.21%
Debt repayment	Interest paid semi-annually with principle repaid a maturity
Amortization	Straight-line over 40 years
Fixed costs	10% of projected revenues
Variable costs	Negligible
Marginal tax rate	34.34%
Cost of Equity	10 79%

Year	Scenario 1	Scenario 2
Production mWh	273,145.50	9,373.50
Price	\$0.08	\$0.08
Revenue	21,852	750
Fixed Cost	(2,185)	(75
Depreciation	(4,074)	(140)
Operating Income	15,592	535
Interest Expense	(10,121)	(347
EBT	5,471	188
Тах	(1,879)	(64)
Net Income	3,592	123

.....

Scenario 1 Three Energy Types					
Year	0	V			
Net income	6				

Year	0	1 to 30	Debt Repayment at Maturity (yr 10)
Net income	5	\$3,592	9
+ depreciati on	p	4,074	ð
- cap exp	(\$162,976)		
+new debt	162,976		(\$162,976)
CF to equity		7,667	
Cost of Equity	10.79%	1	'n
PV(CFs)	V.	67,770	(58,495)
NPV to equity	\$9,275	L.	

Year	0	1 to 30	Debt Repayment at Maturity (yr 10)
Net income	5	\$123	
+ depreciation		140	
- cap exp	(\$5,593)		
+new debt	5,593		(\$5,593)
CF to equity	-	263	
Cost of Equity	10.79%		
PV(CFs)	-	2,326	(2,007)
NPV to equity	\$318		

i.